1. How many of 180's divisors are multiples of 4? [3 points]
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A)2 B) 3 C) 4 D) 6 E)9

2. In a bouquet of tulips for every 2 white tulips there are 3 red tulips. What percentage
are red tulips of the total number of tulips? [3 points]
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A) 66.6% B) 45% C)33.(3) % D) 60%
E) cannot be specified

3. Which of the following geometric figures has the most axes of symmetry?
[3 points]
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A) the equilateral triangle B) rhombus  C) rectangle D) isosceles triangle

E) square

4. In the figure below the triangle ABC is perpendicular in A and if (BD)=(BE) and
(CF)=(CE). Find m(DEF). [3 points]
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A) 40° B) 37.5° C) 47° D) 45° E) 42.5°

5. What is the last digit of x+y? [4 points]
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l.3 - 2
333 2014 and 222 2014
X=3 y=2
A) 7 B)9 C)3 D) 5 E) 1
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A) 2016/2015 B) -2013/2015 C) 2015/2014 D) -2013/2016

E)-2014/2015

7. Let ABC be a triangle with m(A) = 90°, m(C) = 30° and M is the midpoint of the BC

side. Let D be the symmetry of B with respect to AC and N is the foot of the
perpendicular from A to DC. If AM = 15cm, then DN =? [4 points]
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A) 7.5cm B) 10cm C) 12.5cm D) 9cm
E) 12cm
8. If A= (_22014+22013_22012+22011_____22002_,.22001): (_41000) [5 points]
Then 3A=?
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A) 0 B) 2 C) 215-2 D) 41007 E) 214-1

9. LetA={1,2,3, ..., 108}. | choose at random n humbers from the set A. What is the
minimum value of n so that among those n numbers there are 2 numbers with
difference less than or equal to 3? [5 points]
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A) 36 B) 25 C) 55 D) 28 E) 37

10. The points M, N and P are the midpoints of the sides [BC], [AC] and [AB] of the
triangle ABC. R is the foot of the perpendicular from B to AC. If m(PNM) = 409, then

find m(PRM). [5 points]
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A) 30° B) 36° C) 40° D) 450 E) 50°



